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23-24

Solving Multi-Step Equations

Undo the operations in reverse order...
in other words, work backwards.

« Combine like terms, if possible.
O any grouping symbols.
0 addition/subtraction.
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o multiplication/division.

Solve.
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Solve.
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Solve.
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Consecutive numbers are numbers in
counting order (one right after another),
such as 3, 4, 5.

What would consecutive odd integers

look like?
1,%,5,%...

What would consecutive even integers

look like?
2,4,6,9.

11. Define a variable, write an equation, & solve.

Find three consecutive integers

whose %s -30.

x+ (N + m¢
-30

Letx=Istcons.int. — —1

X+1=2nd cons. int. = — |1+ = — [0 %_ TT

x$2 = drd cons. Imb.=—(|+2= —-9 = -l

(‘l,)_ 10, =)
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12. Define a variable, write an equation, & solve.

Find two consecutive odd integers

whose s 128.
Let x= |5t cons. odd Int.=C3 x + (X+ 2) + 128
X42 = 20d ans.odd int =05 T vy |?.z%
z- =
% 65 Ax 1126
[¢3 Z 14
X =63

13. Define a variable, write an equation, & solve.

Find four consecutive even integers

whose sum is -44.
Let x=)st cons. even Int.

x+2 =2nd X+ (x+2) + (K+‘I)+(X+G)$—L;q
= Ux + ] ~Ly
x+y =ind —/[2 |-l
x+6:"'u1- -&. —5g
""')'—,2)—,0) -9 )‘f "l’

=-)y
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14. Define a variable, write an equation, & solve.

Karen has 6 more than twice as many
newspaper customers as when she started
selling newspapers. She now has 98 customers.

How many did she have when she started?
Let Xx= # of starting customers

2X + T%

2 2.
X = Bl customers

15. Define a variable, write an equation, & solve.

A skate park charges $7 per session to skate and $4
per session to rent safety equipment. Jared rents

safety equipment every time he skates. During the
summer, he spends $99 for skating charges and

equipment rentals. How many times did he pay to

Letx=1of nisits  skate at the park?

1X=929
o |

X=9 visits
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